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Please check that this question paper
contains 23 printed pages.

Q.P. Code given on the right hand side
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on the title page of the answer-book by
the candidate.

Please check that this question paper
contains 38 questions.

Please write down the Serial
Number of the question in the
answer-book at the given place
before attempting it.

15 minute time has been allotted to read
this question paper. The question paper
will be distributed at 10.15 a.m. From
10.15 a.m. to 10.30 a.m., the candidates
will read the question paper only and

‘J%ﬁ 3R EL3) Y o S 9 W—gﬁ?ﬂﬂ will not write any answer on the
W h1g ST AR for@ | answer-book during this period. #
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qraT= 3397 :
HEfetfed el &1 Sgd Qg1 € Uigq 7R 371 €] § Yrer HIiorg :

(i)
(i)
(ii1)

(iv)
(v)
(vi)
(vii)

(viii)

(ix)

S Y-UT A 38 T 8 | WU Yv7 ATAATE 8 |
I8 Y99-99 Uier @V A [A1fSid 8 -, @, T, 9T & |

QUE & 4 Y9 §&1 1 € 18 7% glashedisl (MCQ) T I3 G 19 TS 20 %I T
T HTIRT 1 FFF I3 |

Qe @ I Jv €& 21 € 25 7% 3A1d -390 (VSA) TFR & 2 371 & 973 |

QU T H 7 G&IT 26 € 31 T T-STRH (SA) THR % 3 371 & T 3 |

TS T 4 I3 &I 32 @ 35 T I -3t1T (LA) TFR & 5 3H I 8 |

TUE T § Y7 G 36 T 38 T THIUT T STTEMN 4 37 & J97 8 |

Y995 § gqy faerey 71 foar mar & | I=ify, @ve @ & 2 Yol 4, @ve 7% 3 Yol H,
GUS T F 2 Y H AIT TS T F 2 J¥1 T SAaAReF faahedq 1 JIae a1 T & |
FEFI I ITAF FATE |

Eug <h

54 GUS H Fglaehedid 3 (MCQ) &, S8 Jed% J97 1 3 i & |
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5 0 0
IJEA=|0 5 0| B aATA3E:
00 5
5 0 0 125 0 0
A 3|0 5 0 B) |0 125 0
00 5 0 0 125
15 0 0 53 0 0
© |0 15 0 D |0 5 0
0 0 15 0 0 5

Ife P(AUB) = 0-9 @ P(ANB) =04 ®,d P(A)+P(B)%:

(A) 03 B) 1
C) 13 (D) 07
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(1)
(i1)
(iit)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 3 questions in Section C, 2 questions in Section D and
2 questions in Section E.

Use of calculator is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

65/5/1

3]

o2

50 0
IfA=|0 5 0], then A3is:

00 5

50 0 125 0 0
(A) 3|0 5 0 B) |0 125 0

005 0 0 125

15 0 0 53 0 0
© |0 15 0 M |0 5 0

0 0 15 0 0 5

If P(AAUB)=09 and P(A N B) =04, then P(A) + P(B) is :

(A) 03 B) 1
C) 13 (D) 07
Page 3 of 23 P.T.O.
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=

4 3
3. aﬁA:Li X ﬂ:&ﬁTB:[l 2 | %, o Pt i 4w o 2
0 5

(A) Had AB g afifya 2 |

(B) o BA € uftaiya 2 |

(C) AB 3R BA, 7 & qfteiiya 2 |
(D)  AB 3R BA, ST & qftivg 71 € |

P ‘6 ‘5‘ R ey
12 x 4 3
A) 3 B) 7
C) =7 (D) +3
sin2 ax 0
5. aRfx) =, 2 ° 7
1, x=0
x=0 WHATE, T aHAE :
A 1 (B) -1
C) =*1 (D) 0
6.  IREA = [a] FIfE 3 x 3 1 T forehol MR e e ay) = 1, agy = 5 M agg = - 2
2l |A| R
A 0 (B) -10
(C) 10 (D) 1
7. cot—1 (— %j wg@uﬂ%
T 21
(A) ~3 (B) 3
o 21
C) 3 (D) 3
4+x x-1 o
8. 3fe { s 3 } T STCHAE AT 8, A x FTAM S :
(A) 0 B 1
Cc -2 (D) -4

65/5/1 Page 4 of 23
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4 3

} and B=| -1 2|, then the correct statement is :
0 5

1 2 3

3. IfA =
-4 3 7

(A)  Only AB is defined.

(B)  Only BA is defined.

(C) AB and BA, both are defined.

(D) AB and BA, both are not defined.

4, If 2x 5 = ‘ 6 =5 , then the value of x is :
12 x 4
A 3 B) 7
C) =£7 (D) +3
sin? ax
5. Iffw={ 2 **0
1, x=0
1s continuous at x = 0, then the value of a is :
A 1 B -1
C) =*1 (D) 0

6. If A= [aij] is a 3 x 3 diagonal matrix such that a;; = 1, agy = 5 and
agg =—2,then |A| is:

A O (B) -10
(C) 10 (D) 1
1
7. The principal value of cot™1| - —= | is
e ( J§]
T 2n
A - — B -—
(A) 3 (B) 3
T 2n
C — D) —
(®) 3 (D) 3
4 -1
8. If { +2X X3 } is a singular matrix, then the value of x is :
A) O (B) 1
Cc) -2 (D) -4
65/5/1 Page 5 of 23 P.T.O.
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9. R ={[x], x € R} TF HAEAH 0TIk %l =, Al HETTRId H 8 T2l ha @ :
(A)  x=2W{H & T AT T8 & |
(B) x=2WfIA Hqd e A TaheHa 2 |
(C)  x=2WfHAT N TTHHA R |
(D)  x =2 W fHIT T & W FTHAI S |

10.  Thy =—x3 + 3x2 + 8x — 20 hl FIvrdT e folg o 3rferspaw 2, T 2 -

(A (1,-10) (B) (1, 10)
(C) (10,1 (D) (-10,1)
11. J‘«/l+sinx dx ST R :
(A) 2(—sin§ + cosfj +C (B) 2(sin§ - cosf) +C
2 2 2 2
) - 2(sin§ 4 cosEJ + C (D) 2(sin§ 4 cosfj + C
2 2 2 2
/2
12. .[ cosx.eS X dx SR
0
A 0 B) 1-e
C) e-1 (D) e
13. % y=x|x|, x-378, x=—2 3N x=2 GRRST HT aABA & ;
8 16
C) 0 (D) 8

14.  3T9ehcd GHIHTOT

e_z\/;_y g—l
Jxo Jx |jdy

T TR U ¢ :

A) e Nx B) e2Nx
©) ox D) o 2Vx

65/5/1 Page 6 of 23
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9. If fix) = {[x], x € R} is the greatest integer function, then the correct

statement is :

(A) fis continuous but not differentiable at x = 2.

(B) fis neither continuous nor differentiable at x = 2.
(C) fis continuous as well as differentiable at x = 2.
(D) fis not continuous but differentiable at x = 2.

10. The slope of the curve y = —x3 + 3x2 + 8x — 20 is maximum at :

(C) (10,1) (D) (-10,1)
11. J‘4/1+Sinx dx is equal to :
(A) 2| -sin> + cosf) +C (B) 2£sin§—cos§j +C
2 2 2 2
C) - 2(sin§ - COSEJ +C (D) 2(sin§ + cosi) +C
2 2 2 2
/2
12. J' cosx.eS"X dx is equal to :
0
A) O B) 1-e
C) e-1 (D) e
13. The area of the region enclosed between the curve y = x| x|, x-axis, x = — 2

and x=21s:

8 16
€ 0 (D) 8

14. The integrating factor of the differential equation
~2x
[e Y de =1is:

K Jx|dy
&) e Wx B) o2Nx
© 2 D) 2%
65/5/1 Page 7 of 23 P.T.O.
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15.

16.

17.

65/5/1

XX R XX
Fhel THIHT

3
(dyjz a2y
1+ Y| =&Y
T ShITe S T T AR 2 -
5

(A) 2 (B) 2 C 3 (D) 4

Teh {Rgeh T @951 (LPP) & foTe, feam e Se ™ e Z = 3x + 2y
e eyl & Jidia ©
x + 2y <10

3x+y<15
x,y>0

Y

(0,15ﬁ

B

X<70 3,0\ (10, 0) 2
x+ 2y =10
Y’ 9% oy = 15
T GETT & Q
(A) ABC (B) AOEC
(C) CED (D) EAT 9T &7 BCD

T T @ o Rerfe afier & e it fiig (2, - 3) ¥ 19 AB =3 %, et fiig

A % TG (- 4, 5) €1 feig B o faerien € -

A (-2,-2) (B) (2,-2) © (-2,2) (D) (2,2)
Page 8 of 23




15.

16.

17.

65/5/1

oo

o2

X B W

The sum of the order and degree of the differential equation

3
2 2
1+(QJ = d_y is -

(A) 2 (B)

° C) 3 D) 4

For a Linear Programming Problem (LPP), the given objective function
Z = 3x + 2y is subject to constraints :

x+2y<10

X0 5,0\ (10, 0) >R
X+ 2y =10
Y’ 9% 4y = 15
The correct feasible region is :
(A) ABC (B) AOEC
(C) CED (D) Open unbounded region BCD

- " . . -
Let a be a position vector whose tip is the point (2, — 3). If AB=a',
where coordinates of A are (— 4, 5), then the coordinates of B are :

A -2,-2) B 2,-2) €) (-2,2) (D) (2,2)
Page 9 of 23 P.T.O.
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18. (3 -b).(a +b)=512 83 |a [=3|b | &,d|a |3 |b |+

I SFAST: ©
(A) 48316 (B) 331
(C) 243RS8 (D) 632

97 GE&IT 19 3R 20 37wy Tq deh eid 994 2 | e %97 fov 71w & o8 u &)
3719 (A) 1 TR %l d% (R) R Hfehd o201 701 8 | §9 521 % G&] SR A4 13 7T HIS]
(A), (B), (C)a?z(wﬁ@we?ﬁm

(A) aﬁqwq(A)aﬁxaa%(R)aﬁw%aﬁwshR),W(A)ﬁuﬁw
FLATL |

(B) AR (A) 3R @ (R) T W&l €, Wq @ (R), ATWhaT (A) 1 Wt
AT gl T 2 |
(C)  ANYHAA (A) ¥ &, T Toh (R) TAd 2 |
(D) AR (A) TTed &, T ae (R) T 2 |
19. BT (A): T H BifoRd AT € ¢ ge T @we (LPP) & &
& frefta T R |

Y

10

///}B(z 4)
/3 P 0(10@/

X< A s PR

2 74 6 "8 10 ™

{;, 2x +y =8 x+ 2y =10

Z = 50x + 70y T FATHTHIT

fre st & Sfea

2x+y2>8, x+2y>10, x,y>0

T Z %1 =AaH 7 B(2, 4) W 380 7 |

% (R) : 50x + 70y < 380 I feftd &= =i ahlg feig FemT &= & |re e
cl

65/5/1 Page 10 of 23
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18. The respective values of | a | and | b |, if given
(2 —B).(a +b)=512 and |a |=3|Db |, are:
(A) 48 and 16 (B) 3andl1
(C) 24 and8 (D) 6 and 2

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled Assertion (A) and the other labelled Reason
(R). Select the correct answer from the codes (A), (B), (C) and (D) as given below.

(A)

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B)

Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).

(C)
(D)

19. Assertion (A) :

Reason (R) :

65/5/1

oo

o2

Assertion (A) is true, but Reason (R) is false.
Assertion (A) is false, but Reason (R) is true.

The shaded portion of the graph represents the feasible
region for the given Linear Programming Problem (LPP).

Y
10

5x+7y=38 8 A(O,S)

s
N\

/4/__ B(2, 4)
A_ \\\ /
d o C(10, )
X’ € . et F— X
0 72 4\ "6 8 1012
{;r 2x+y=28 x+2y =10

Min Z = 50x + 70y

subject to constraints

2x+y=28, x+2y>10, x,y >0

Z = 50x + 70y has a minimum value = 380 at B(2, 4).

The region representing 50x + 70y < 380 does not have
any point common with the feasible region.

Page 11 of 23 P.T.O.




20.

X 2 XX
AFIT(A): WATA={xeR:-1<x<1.3Cf: A > A fx) = x2 g

RIS B, 1 £ =T B Tl = |
b (R) : aﬁy=—leA%,?ﬁx=i\/j¢A.

LCLCRC)

59 QU H 5 37fd T1g-37T (VSA) TR & J97 8, IS0 Ielah % 2 3 & |

21.

22,

23.

24.

25.

65/5/1

Hed f(x) = cos~1 (x2—4) %THTH%THWI

T oA (AT H TaT S W, 36ehT TR &%et 5 mm?/s i & & Seam @ | 1
TeaTL T AT 8 mm &, T T ShITSTC, foh 56 TToalTL T AT fohll T EH 9¢ W |

p]

a;_{:n_a sinx
k) x &, —@ T SAdhe hiTST |

AT

2
Q) qﬁy=5cosx—3sinx%,ﬁﬁ@ﬁﬁ?%j—§ +y=0%|
X

@) o aRe T i S ot 5 3, aur s aet et 31 -2 + k ok
41 43} —2% oA

aroraT
@) HET a,b R ¢ @ @ Ry §, e T 2.0 = a.¢ ¥R
?x?:?x?,?#O%IW%B}=?.

Teh Sufeh e Eieft am, forees ki o fesiw A (4, 1, - 2) 92T B (6, 2, — 3) &, WAl
ATAL 3 TR ALHMT <ITedl & fob 3 AT dTed foig q AB ohl H-BrwioTed ol | S
f&'g«:ﬁ% fceTien 1 HIfNTT 99 9= 3 ST TSt shl AT © |

Page 12 of 23
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20. Assertion(A): Let A={xe R:-1<x<1}. If f: A > A be defined as

f(x) = x2, then fis not an onto function.

Reason (R): Ify=-1e A ,thenx=1+ /-1 ¢ A.
SECTION B
This section comprises 5 Very Short Answer (VSA) type questions of 2 marks each.

21. Find the domain of the function f(x) = cos™! (x2 — 4).

22. Surface area of a balloon (spherical), when air is blown into it, increases
at a rate of 5 mm?%/s. When the radius of the balloon is 8 mm, find the

rate at which the volume of the balloon is increasing.

sinx .
23. (a) Differentiate with respect to x.
Jeosx
OR
d2y
(b) If y=5cosx—3sinx, prove that —5 +y=0.
dx

24. (a) Find a vector of magnitude 5 which is perpendicular to both the
A A A A A AN
vectors 31 —2j + kand41 +3j —2k.

OR

? be three vectors such that E)F) = ?? and
, a # 0. Show that b=¢.

(b) Let an

d

_)

X C

25. A man needs to hang two lanterns on a straight wire whose end points
have coordinates A (4, 1, — 2) and B (6, 2, — 3). Find the coordinates of the
points where he hangs the lanterns such that these points trisect the
wire AB.

65/5/1 Page 13 of 23 P.T.O.
@ #




XX s KX
Qug T

$9 GUS 4 6 oTY-IH1Y (SA) bR & Y94 8, 198 JlF % 3 3% 8 |

26. ‘a’WWWWW%’Qf(X)= \/gsinx—cosx—2ax+6, RABEHH T |

27. (%) FAHNT:

j 2x dx
(x2 +3) (x2 - 5)
AUAT

@) UH I i

4

j(\x_z\+\x_4\) dx

1

28.  3Idehcd GHIHLT

[X sin2(zj—y} dx +xdy=0

X

=1 fafyre g g iR, femmn e fry = g 2 ax=1%2I

o o N o ~

29. fefaRaa g o g7 (LPP) o fou s1fehaw arar/ama ?rgqlld hifSTT |

Z =5x + 10y

1 e o Siaia
X+ 2y <120
X +y =60
x—2y2>0
x,y=>0

65/5/1 Page 14 of 23
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SECTION C

This section comprises 6 Short Answer (SA) type questions of 3 marks each.

26. Find the value of ‘a’ for which f(x) = /3 sin x — cos x — 2ax + 6 is decreasing

in R.

27. (a) Find :

J‘ 2x dx
(x2 +3) (x2 - 5)

OR

(b) Evaluate :
4

_[(\x_z\+\x_4\) dx

1

28. Find the particular solution of the differential equation

|:X sin2(ZJ—y} dx+xdy=0

X

given that y = g, when x = 1.

29. In the Linear Programming Problem (LPP), find the point/points giving
maximum value for Z = 5x + 10y
subject to constraints
X + 2y <120
X +y =60
x—2y >0
x,y=>0

65/5/1 Page 15 of 23 P.T.O.
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30.

31.

65/5/1

(%h)

@)

(h)

@)

[=] ¥ (=]
X oEE
A a+b+c=0 &, F"md |2 |=3,|B|=5|¢|=78%d a3

b 3 sfter a1 shivr 1 IR |

Ifs oo TRy @ K b F & @ & 9 2, a fag div fe

T foremeff gRT Tk {1 Wi et TEdsh % @lied i TTRieRdr 0-7 ST M o
SR shT e sht SRl 0-2 & | 36k Teh TT WA STl Tk ohi Eria- ol
STThdT, I ST U foh 36 T T st @de foram 2, 0-3 & | JTRreear Jra
hifre for o feremeff:

(1) I, {7 9 ATl sk 3T o s, et § |

(i) G o1 S TRiEd €, I8 ST U foR 36 7 R areft g5ae @i oft © |
YT
Teh STk o UTH %l o1 Ueh s1o & [Sred 6 U 3T 4 Tl § | 98 39 9199 &

AG=AT Th %, Toh-Teh ohleh A SR HeRTerdT &, B o FhTet 71T % I T:
ST | T eI AT ® | 3a hifei

G)  TerTer o Haw h Eeat o ITRiekdr e |

(i)  ITgredeh = (Hali shi TE&AT) i I |

Page 16 of 23
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31.

65/5/1

3

2

(a)

(b)

(a)

(b)

X B W

a+b =6)suchthat|5)|=3,|E>|=5,|?|=7,then

If a+ ?

+

find the angle between 2 and b .

OR

If @ and D are unit vectors inclined with each other at an angle

0, then prove that % | a-b |= sing.

The probability that a student buys a colouring book is 0-7 and
that she buys a box of colours is 0-2. The probability that she buys
a colouring book, given that she buys a box of colours, is 0-3. Find

the probability that the student :
1) Buys both the colouring book and the box of colours.

(i1)  Buys a box of colours given that she buys the colouring book.

OR

A person has a fruit box that contains 6 apples and 4 oranges. He
picks out a fruit three times, one after the other, after replacing

the previous one in the box. Find :

(1) The probability distribution of the number of oranges he

draws.

(i1))  The expectation of the random variable (number of oranges).

Page 17 of 23 P.T.O.
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Qus ¥

SHEUEH 4 3H-FHIT (LA) SFR F T 8, T80 Icdh o 5 37F 3 |

32.

33.

34.

35.

65/5/1

y = x2 &1 UT% 15T | GHRH o T &, y = 9, x = 0 W y = x2 T o &1 o1
SELE RIS 1

T {11 ShTRTTAT ST i ST o WefTe ohT IcdTa St & — T, HeT ST aeiT |
T @ o T, I8 Ficd 45 Fita hl TeqU IedTied el 8 | a8 WY arn S € fof
ScaTTed SRl H, Tl ohl €T, HRAET ol HEd U § 4o 8, Sefeh HRIAT S T
ol Tt SedTe HEAT, USTH 2l TEAT ol AT € | ST Tler oh TN §, Tedeh TehrL ohi
TR e shl SATIae $ohTSAT HTd ShiTIT |

1

(F) T GATHE ik ‘@’ o g, (t+%)a%1¢rﬁ&1 a t s B,

STET t T I[IAL ATEd ok §EAT 2 |

AT

@) A yX+x¥ +xX=ab %,G%Tai‘ﬁ'{bﬁm%,?ﬁg—z 1A hITerT |

F) T X;2 = y‘; = _Z;‘l W fsig (1, 1, 4) ¥ STl T A A UIE 1@

Fifer |

@ e X2 - = - 2% e aw fag i A g -1, -1, 2) @

22 R H G R |
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SECTION D

This section comprises 4 Long Answer (LA) type questions of 5 marks each.

32. Sketch a graph of y = x2. Using integration, find the area of the region
bounded by y =9, x =0 and y = x2.

33. A furniture workshop produces three types of furniture — chairs, tables
and beds each day. On a particular day the total number of furniture
pieces produced is 45. It was also found that production of beds exceeds
that of chairs by 8, while the total production of beds and chairs together
is twice the production of tables. Determine the units produced of each

type of furniture, using matrix method.

t+1
t

34. (a) For a positive constant ‘a’, differentiate a with respect to

a
(JH;j , where t is a non-zero real number.

OR

(b)  Find 3—}7 if y¥+xY +xX=aP, where a and b are constants.
X

35. (a) Find the foot of the perpendicular drawn from the point (1, 1, 4) on
x+2 y+1 -z+4

the line = =
5 2 -3
OR
. : .ox-1 y+1 z—4 .
(b)  Find the point on the line 3 - 5 =3 at a distance of
242 units from the point (-1, -1, 2).
65/5/1 Page 19 of 23 P.T.O.
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Qus e

TYGUE T 3 Joh{UT eI SNITRATH & S8 I &+ 4 37F 8 |

Th{0T 3eqdq — 1

86. UH 9GS ohl AN 3T U & Uk Ahg! ohl TR ST sHMT 7, [STHehT ST i §
3T 3rraH FAfera 2 | ifer SH I i ot U2 i o T stawares Ue h H) 8,
SECTY I <ITEAT @ o IR31 &Thel = & |

SRIh G o TR W, FHHfefiad Sei o 3 i ;

1) Fi@%:ﬂﬁ@é:xﬁ.ﬁ%ﬁﬁ:yﬁ.@waﬁ%wm(&aﬁx
T AT (V) (ST 2R ) o vet | =k ifSTT |

(i1) a5 JTd hiTSTT |
dx

(i) (F) I TR &R (S) A &, A x TAT y H G 1 hioC |

AT

(i) (@) IR TR &ARa (S) fer g, a1 3T (V) = i(sx—2x3) 7, W&l x

AT AT Teh for T @ | S91isu foh x = \/% & foT e (V) stfereram = |

Th{0T &g — 2

37. WM ST Th Tt % SREel wem o 30 foEnmiddi w1 wH=a" A ® | W
f:A— N, Sl N TTehd ST 1 @< 8, T bo & S f(x) = foramedf x & T
o g e foRm TR B |

SUYeh FAT o TR 9T, Hfeiad 9T o I a1 ;

() oI £ Uk Uohehl AT=5TEeh Fold & ?
(i) (1) % feIu 3199 I gaeiq | sy difSw |
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SECTION E
This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. A carpenter needs to make a wooden cuboidal box, closed from all sides,
which has a square base and fixed volume. Since he is short of the paint
required to paint the box on completion, he wants the surface area to be

minimum.
On the basis of the above information, answer the following questions :

(i) Taking length = breadth = x m and height = y m, express the surface

area (S) of the box in terms of x and its volume (V), which is

constant. 1
(ii) Find das ) 1
dx

(ii1)) (a) Find a relation between x and y such that the surface area (S)
is minimum. 2

OR
(111) (b) If surface area (S) is constant, the volume (V) = i(SX — 2x9),

x being the edge of base. Show that volume (V) is maximum

fOI‘X=\/§. 2
6

Case Study - 2

37. Let A be the set of 30 students of class XII in a school. Letf: A —- N, Nisa
set of natural numbers such that function f(x) = Roll Number of student x.

On the basis of the given information, answer the following :

(i) Is f a bijective function ? 1
(i1)  Give reasons to support your answer to (i). 1
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(iii) (F) TH T R, e A forenfat & e it e it JsAT s9H & fag
Tees g wftag wen Hiy 2, s fefafed g yea @
R:{(X,y):x,ywa?ﬁﬂqa(%,aﬁy=3x}
R o HeE! sl Felleig hIfSIT | 1 Heiel R Tqed, Gt 3T dshih
2 2 Y I HT I Y |

HYAT
(iii) (@) UHANTR TF G § S Taiad &9 5 9Tiyd & ;
R=1{x,y): xﬁ?y%@wa?ﬁﬂ T g, &y = x3}

R % S1E| sl Gelleg IS | T R Tk %oid @ 2 39 3T 1 S
odrgu |

Th0T g — 3

T At 319 e § e Tfostat TRTHT TRaT © | 9fe 98 ST % dre o fae
10 S, garit o et o fag 12 st SR et & drdl & o 8 sfist wdied 2 |
THMER o I8 ST 3 SFHLOT, TN o SAFIOT S et oh SIFHT0T i ATkl SHaT:

25%, 35%, 3ﬁT40%W3TWﬁaTI TR 3HH U %a-s'aﬂsraﬁtrm I TH oA
ﬁﬁlﬂTﬁqu'Qﬁ'{ddchl ATGoSAT Ak | ST I |

SR{Ed FAT o TR 9T, A ferfad ST o I a1 ;
(i)  AgFodsh &I W I T T 1S o SHRA B shl TTRIHAT shl TUMET HITT |

(i)  TEeh T TRERAT & Toh 98 TamTt &1 it 2, I8 S §¢ o6 <1 T S
FHPRA BN E 2
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(i1i) (a) Let R be a relation defined by the teacher to plan the seating
arrangement of students in pairs, where

R = {(x, y) : x, y are Roll Numbers of students such that y = 3x}.

List the elements of R. Is the relation R reflexive, symmetric
and transitive ? Justify your answer. 2

OR

(i11) (b) Let R be a relation defined by
R = {(x, y) : x, y are Roll Numbers of students such that y = x3}.

List the elements of R. Is R a function ? Justify your answer. 2

Case Study -3

A gardener wanted to plant vegetables in his garden. Hence he bought
10 seeds of brinjal plant, 12 seeds of cabbage plant and 8 seeds of radish
plant. The shopkeeper assured him of germination probabilities of brinjal,
cabbage and radish to be 25%, 35% and 40% respectively. But before he
could plant the seeds, they got mixed up in the bag and he had to sow
them randomly.

5,

Radish Cabbage Brinjal

Based upon the above information, answer the following questions :

1) Calculate the probability of a randomly chosen seed to germinate. 2

(i1) What is the probability that it is a cabbage seed, given that the
chosen seed germinates ? 2
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